

7. a) $(x-1)(x-2)(x-3) > 0$

x	1	2	3	
x-1	-	0	+	+
x-2	-	-	0	+
x-3	-	-	-	0
P(x)	-	+	-	+

$$x \in (1, 2) \cup (3, +\infty)$$

ΕΥΟΤΥΤΑ

19

b) $(3x-1)(x^2-4) < 0$

x	-2	$\frac{1}{3}$	2
3x-1	-	0	+
x ² -4	+	0	-
P(x)	-	+	-

$$x \in (-\infty, -2) \cup (\frac{1}{3}, 2)$$

c) $(x+1)(1-x)^2 \leq 0$

x	-1	1
x+1	-	0
(1-x) ²	+	+
P(x)	-	+

$$x \in (-\infty, -1]$$

8. (B) $(x^2-4)(x^2-5x+6) < 0$

x		-2		2	3
x^2-4	+	0	-	0	+
x^2-5x+6	+		+	0	-
$P(x)$	+		-	-	+

$x \in (-2, 2) \cup (2, 3)$

9. (a) $x^3 > 1$
 $x^3 > 1^3$
 $x > 1$

(i) $x^3 < 3x^2 - 2x$
 $x^3 - 3x^2 + 2x < 0$
 $x(x^2 - 3x + 2) < 0$

x		0	1	2
x	-	0	+	+
x^2-3x+2	+	+	0	-
$P(x)$	-	+	-	+

$x \in (-\infty, 0) \cup (1, 2)$

$$23. \quad P(x) = x^4 + \alpha x + \beta$$

$$(a) \quad P(2) = 0 \quad \text{and} \quad P(-2) = -2$$

$$P(x) = x^4 + x - 2$$

$$(b) \quad P(x) = 2x - 2$$

$$x^4 + x - 2 = 2x - 2$$

$$x^4 - x = 0$$

$$x(x^3 - 1) = 0$$

$$x = 0 \quad \text{or} \quad x^3 - 1 = 0$$

$$x^3 = 1$$

$$x = 1$$

$$(c) \quad P(x) < 2x - 2$$

$$x^4 + x - 2 < 2x - 2$$

$$x^4 - x < 0$$

$$x(x^3 - 1) < 0$$

x	0	1
x	-	+
$x^3 - 1$	-	+
$Q(x)$	+	-

$$x \in (0, 1)$$

47. $P(x) = x^3 + ax + b$

Ερωση

Διαρρηξι ανη η $x^2 - 2x + 1$

Βρη a, b .

\downarrow
 $(x-1)^2$

17

1 0 a b ①

\downarrow
1 1 a+1 $\boxed{a+b+1=0}$

1 1 a+1 ①

\downarrow
1 2 $\boxed{a+3=0}$

$\Rightarrow \underline{\underline{a=-3}}$

$-3+b+1=0$

$b-2=0$

$\underline{\underline{b=2}}$

$$1. \text{ a) } \frac{x^2}{x+1} + \frac{4}{1-x} = \frac{2}{x^2-1}$$

Εύρημα
20

$$\frac{x^2}{x+1} - \frac{4}{x-1} = \frac{2}{(x-1)(x+1)}$$

Προσν $x+1 \neq 0$

$$x \neq -1$$

$x-1 \neq 0$

$$x \neq 1$$

$(x-1)(x+1) \neq 0$

$$x^2(x-1) - 4(x+1) = 2$$

$$x^3 - x^2 - 4x - 4 = 2$$

$$x^3 - x^2 - 4x - 6 = 0$$

1	-1	-4	-6	(3)
↓	3	6	6	
1	2	2	0	

$$(x-3)(x^2+2x+2) = 0$$

$\Delta < 0$

$$x=3$$

$$2. \quad (a) \quad \eta \rho^3 x + \sigma \omega^2 x + \eta \rho x + 2 = 0$$

$$\eta \rho^3 x + 1 - \eta \rho^2 x + \eta \rho x + 2 = 0$$

$$\eta \rho^3 x - \eta \rho^2 x + \eta \rho x + 3 = 0$$

$$\boxed{\eta \rho x = t}$$

$$t^3 - t^2 + t + 3 = 0$$

$$\begin{array}{cccc} 1 & -1 & 1 & 3 \end{array} \quad (-1)$$

$$\downarrow \quad -1 \quad 2 \quad -3$$

$$\begin{array}{cccc} 1 & -2 & 3 & 0 \end{array}$$

$$(t+1)(t^2 - 2t + 3) = 0$$

$$\Delta < 0$$

$$t = -1$$

$$\eta \rho x = -1$$

$$\eta \rho x = \eta \rho \frac{3\pi}{2}$$

$$x = 2k\pi + \frac{3\pi}{2}$$

$$\vee \quad x = 2k\pi + \pi - \frac{3\pi}{2}$$

⑧

$$4x^6 - 4x^3 + 3 = 0$$

$$\underline{4x^3 = t}$$

$$t^2 - 4t + 3 = 0$$

$$\underline{t^2 = 4t - 3}$$

$$k^2 - 4k + 3 = 0$$

$$k = 3$$

$$t^3 = 3$$

$$t = \sqrt[3]{3}$$

$$4x^3 = \sqrt[3]{3}$$

Answer!

$$k = 1$$

$$t^3 = 1$$

$$t = 1$$

$$4x^3 = 1$$

$$4x^3 = 4x^{\frac{3}{2}}$$

$$x = 2x^{\frac{1}{2}}$$

$$7. \quad \textcircled{a} \quad \frac{5x-2}{2x-1} > 3$$

$$\frac{5x-2}{2x-1} - 3 > 0$$

$$\frac{5x-2}{2x-1} - \frac{3(2x-1)}{2x-1} > 0$$

$$\frac{5x-2-6x+3}{2x-1} > 0$$

$$\frac{-x+1}{2x-1} > 0$$

x		$\frac{1}{2}$	1
$-x+1$	+	+	-
$2x-1$	-	0	+
$p(x)$	-	+	-

$$x \in \left(\frac{1}{2}, 1\right)$$

$$10. \quad \textcircled{\alpha} \quad \frac{x^2}{x+2} > 1$$

$$\frac{x^2}{x+2} - 1 > 0$$

$$\frac{x^2}{x+2} - \frac{x+2}{x+2} > 0$$

$$\frac{x^2 - x - 2}{x+2} > 0$$

x	-2	-1	2
$x^2 - x - 2$	+	0	-
$x+2$	-	0	+
$f(x)$	-	+	-

$$x \in (-2, -1) \cup (2, +\infty)$$

$$17. \textcircled{\beta} \quad \frac{x^2}{x-1} > \frac{2}{x^2-1}$$

$$\frac{x^2}{x-1} - \frac{2}{(x-1)(x+1)} > 0$$

$$\frac{x^2(x+1)}{(x-1)(x+1)} - \frac{2}{(x-1)(x+1)} > 0$$

$$\frac{x^3+x^2-2}{(x-1)(x+1)} > 0$$

$$\frac{x^3+x^2-2}{x^2-1} > 0$$

$$\frac{\cancel{(x-1)}(x^2+2x+2)}{\cancel{(x+1)}(x+1)} > 0$$

$$\frac{\textcircled{+} x^2+2x+2}{x+1} > 0$$

x	-1	
x^2+2x+2	+	+
$x+1$	-	+
$P(x)$	-	+

$$\begin{array}{cccc} 1 & 1 & 0 & -2 \textcircled{1} \\ \downarrow & 1 & 2 & 2 \\ 1 & 2 & 2 & 0 \end{array}$$

$$x \in (-2, +\infty)$$

$$\underline{\underline{x \in (-1, 1) \cup (1, +\infty)}}$$

$$1. \textcircled{3} \sqrt{x-2} - 3 = 0$$

$$\sqrt{x-2} = 3$$

$$x-2 = 9$$

$$\underline{\underline{x=11}} \quad \checkmark$$

нрчн

$$\underline{\underline{x-2 > 0}}$$

СЛОТТА

21

$$\textcircled{8} \sqrt{x^2-9} = 4$$

$$x^2-9 = 16$$

$$x^2 = 16-9$$

$$x^2 = 7$$

$$\cancel{x = \sqrt{7}} \quad \cancel{x = -\sqrt{7}}$$

Алсузун!

$$\text{нрчн } x^2-9 \geq 0$$

$$2. \textcircled{B} \sqrt{3-2x} - \sqrt{x+1} = 0$$

$$3-2x \geq 0$$

$$x+1 \geq 0$$

$$\sqrt{3-2x} = \sqrt{x+1}$$

$$3-2x = x+1$$

$$-2x - x = 1 - 3$$

$$-3x = -2$$

$$x = \frac{2}{3} \checkmark$$

$$\textcircled{D} \sqrt{25-x^2} = \sqrt{2x+1}$$

$$25-x^2 = 2x+1$$

$$-x^2 - 2x + 24 = 0$$

$$x^2 + 2x - 24 = 0$$

~~$$x = -6$$~~

$$x = 4 \checkmark$$

$$25-x^2 \geq 0$$

$$2x+1 \geq 0$$

$$3. \quad \textcircled{B} \quad x + \sqrt{x} - 2 = 0$$

$$\sqrt{x} = 2 - x$$

$$x = (2 - x)^2$$

$$x = 4 - 4x + x^2$$

$$x^2 - 5x + 4 = 0$$

~~$$x = 4$$~~

$$x = 1$$
 ✓

$$\begin{aligned} x &\geq 0 \\ 2 - x &\geq 0 \end{aligned}$$

$$\textcircled{D} \quad \sqrt{x} = x - 2$$

$$x = (x - 2)^2$$

$$x^2 - 4x + 4 - x = 0$$

$$x^2 - 5x + 4 = 0$$

$$x = 4$$
 ✓

~~$$x = 1$$~~

$$\begin{aligned} x &\geq 0 \\ x - 2 &\geq 0 \end{aligned}$$

6. (1) $\sqrt{5x^2+4} - x = x+1$

$$\sqrt{5x^2+4} = 2x+1$$

$$5x^2+4 \geq 0$$

$$2x+1 \geq 0$$

$$5x^2+4 = (2x+1)^2$$

$$5x^2+4 = 4x^2+4x+1$$

$$x^2-4x+3 = 0$$

$x=1$ ✓ $x=3$ ✓

8. (52) $\sqrt{x-1} = \sqrt{x+2} - \sqrt{3x-5}$

$$\sqrt{x-1} + \sqrt{3x-5} = \sqrt{x+2}$$

$$(\sqrt{x-1} + \sqrt{3x-5})^2 = (\sqrt{x+2})^2$$

$$x-1 + 2\sqrt{x-1}\sqrt{3x-5} + 3x-5 = x+2$$

$$4x - 6 + 2\sqrt{x-1}\sqrt{3x-5} = x+2$$

$$2\sqrt{x-1}\sqrt{3x-5} = -3x+8$$

$$4(x-1)(3x-5) = (-3x+8)^2$$

$$x-1 \geq 0$$

$$x+2 \geq 0$$

$$3x-5 \geq 0$$

$$\sqrt{x+2} - \sqrt{3x-5} \geq 0$$

$$8-3x \geq 0$$

$$4(x-1)(3x-5) = 64 - 48x + 9x^2$$

$$4(3x^2 - 5x - 3x + 5) = 9x^2 - 48x + 64$$

$$12x^2 - 32x + 20 = 9x^2 - 48x + 64$$

$$3x^2 + 16x - 44 = 0 \quad \checkmark$$

$$x = \frac{-16 \pm 28}{6}$$

$$- \frac{44}{6}$$

$$= - \frac{22}{3}$$